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- D.ELEd. Entrance Test Questions & Answers - 2017

Instructions for Marking Answers

Full Mark - 100
: Time - 2 Hrs.
> ;ll-iuil C(:lnputerized OMR Answer Sheet is to be filled in by BLACK INK / BLUE BALL - POINT
only-
2 Q469190 OMRQ Qaq age! PN QaQIds epl / AR QIR 2ol INANG 6UR MR
@6q | |

2. Smce answers and other particulars are to be filled in with Black / Blue Ink Ball-Point Pen, there
1sno p}'OVdsion for change of answers by eraser / blade / white fluid etc. Therefore, all particulars
lncludm-g answers are to be filled in VERY CAREFULLY, Kindly note that the OMR Answer
Sheet will not be replaced under any circumstances. :

6462Q Q89 19° R G ARIRTR SINACI FRANG 607 LR AR gRd QAIKR, 664
Q9% / 6QL. / R ALINER AR e P | E@el @00Q 6 NG FQRdN RS IR
ﬂﬁ‘j‘lsa ded @ag | QaIed ue dug, cIcdled 0dddea OMR QRQAEH Qo alall3
Q2 |

3. Darken onlyonly one circle for Answer of each question as shown in the example given below.
Marking should be dark and the circle is to be filled in completely as shown in the example.

7 @eIeadsn 24IgINAR 89 J6eIe 990 0ee die 6L9R 6aIEN 2 cdin @Rl @aq |
QQI2REER FITINAR AR Al 6TINER CIP AR / F1R aF QA §9 Al aF0 |

4. There is only one correct response for each question. More than one response to a single question
shall be treated as negative response. For each negative marking 0.25 marks shall be deducted

from your total marks.
6o ggae 6aIed FGa Qae 28 | 99 60T FGY g9e QAR dIR RIS 6FING Qe

RQITIR2IN, 6069 Ol2 9R 20R NIEY FAPR VALY | Z6RIR YN e AR ©.98 e

@e1dQ |
Mark your answer only in the space provided. Please do not mark any other thing on the OMR

answer sheet. 3
caeR QuIRIA gINea 2

Py I'P
Geg @@ |

6. Rough work should not
end of the question booklet, for roug}lyork_

OMR 969 930I6a aF @lIf @ag IR | QT @A g 94 98I 08OTER QI o die | Qe

o0, aae 650 @ag | M@ g3qa 6Tled gIReR ARINNe §¢

be done on this OMR Answer sheet. Use rough sheets provided at the

yee @03 |
Do not fold Answer Sheet. Carbon copy of OMR answer sheet can be taken away by the candidate.

OMR Q6@ 9891 8t @ag QR | 98 UG QISR @8 Il 6aQI 2GS |

Mease I the following instructions carefull

1. Write your Roll Number, Ques.tion Booklet Numt_ter and Question Booklet Series on the OMR
Answer Sheet carefully aIld sign at the appropriate p.lace. Please note that in absence of the

correct Roll Number, Question Booklet Nurnber, Question Booklet Series and Signature on the

OMR Answer Sheet, your Answer Sheet will be treated as invalid and will not be evaluated.

w the instructions given by the Centre Superintendent / Centre Ob
d Instructions given on the Question Booklet. Sepver | Room

n

2. Strictly follo
Invigilator an
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- D.ELEd. Entrance Test Questions & Answers:- 2017

: SECTION-I
What comes next : 9, 15, 23, 33? 71 1. <9I06a @@ ade : 9, 15, 23, 33?
(a) 44 (b) 36 (a) 44 (b) 36
(c) 38 (d) 45 Cipe g (d) 45 7
: 2. 49,36,25 16,9 —.
49, 36, 25, 16, 9 —. (a) 28 (b) 2
(a) 28 (b) 2 (c) 8 d) 4%
(c) 8 (d) 4 3. AAMRe M9S 66IR Q@RI 9%
Find the odd man out : - (a) @@l (b) enel
(a) Father (b) Mother (c) QR d) €Ig *
(c) Sister (d) Mother-in-law w24 z6qie 6208 aR 60629 I 6208 !
LIGHT is BRIGHT as SUN is : (a) o8 (b) dog
(@ Moon (b) Day (c) Qae (d) |8 Y
(c) Earth (d) ‘Shine 5. 7Q7Q @60I8 Q6R, TRITR 629 :
When -7 is subtracted from -7, result is: (@) 7 (b) 14
(@) 7 (b) 14 ~(c) 0 (d) 24
() 0 (d) 24 6. 69169 dFQ Q6TE6Q SPIDER @ 9%

If SPIDER is written as PSDIRE in a
certain code. How would COMMON be
written in that code?

(a) OCMMON (b) OCMOMN

(c) OCMMNO (d) OCOMMO
The lady sitting in the sun is my brother’s
mother’s daughter. I have one brother
and one sister. What is that lady to me?

(a) Mother
(c) Sister

(b) Sister-in-law
(d) Daughter

How many Q’s are preceded by R and
followed by P in the following series :
ASRQPQRQNRQPRQPQR

(a) 3 (b) 1

(c) 2 (d) 6

Raju’s rank is 18" in a class of 50. What
is his rank from the last?

(a) (b) 33

(c) 31 (d) 30

Seven years ago Pinku was three years
older than Tinku. What is difference in
their ages now?

(a) 5years (b) 7 years

(¢) 3years (d) 1 year

PSDIRE ®16Q 6RHIAIN 6069 698
A6 COMMON @ 6266 6RsIde ?

(a) OCMMON  (b) OCMOMN
“(c) OCMMNO  (d) OCOMMO

7.  SoI6q @dgQl €T €91 Quee RIS &2
6718 60ITN RN 99° 6QITT QRd| 698
&2 QPP 671 A Q€ ?

(a) Qi (b) RIQe
() QR4 . (d) €2
8. QEUARES AURIER R 96Q 99° P g9
605018 Q% . .
ASRQPQRQNRQPRQPQR
o (a) 3. * (b) 1
V/ (c) 2 (d) 6

9. _ 50 96 BIRVIGT AN I 68616Q QYR YR
6208 18 QF1 699 2R 988 @6q ora

df 6960 699 7
(a) 3209 “(b) 3300
(c) 310 (d) 3099

S

10. Qe od gaq g §QoIq 66 od ¢ aal |
QAR 6QANRT QAQ AUER SIREM

6960 ?
(a) 594 (b) 7 €
V() 308 d) 1ed
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D.ELEd. (CT) PREVIOUS YEAR QUESTIONS & ANSWERS

A-3

Directions from 11 to 15 questions : Read the

following passage and choose the best answer

to each question out of the four alternatives :

Mahatma Gandhi believed that
industrialization was no answer to the
problems that plague the mass of India’s poor
and that villagers should be taught to be self-
sufficient in food, weave their own cloth from
cotton*and eschew the glittering prizes that
the twentieth century so temptingly offers.
Such an idyllic and rural paradise did not
appear to those who inherited the reins of
political power.

11. Which one of the following best
illustrates the relationship between the
phrases :

(i) “eschew the glittering prizes’ and

(ii) “idyllic and rural paradise’?

(a) unless you do (i), you cannot
have(ii)

(b) (i) and (ii) are identical in meaning

(c) firstof all you must have (ii) in order
to do (i)

(d) the meaning of (i) is directly opposite
to (ii)
12. Mahatma Gandhi’s views opposed
industrialization of villages because :
(a) it would help the poor and not the
rich

(b) it would take away the skill of the
villagers.

(c) it would affect the culture of the
Indians

(d) it would undermine self-sufficiency
and-destroy the beauty of life of the
villager

13. The meaning of ‘the glittering prizes that
the twentieth century so temptingly
offers’ is :

(a) pursuitof acommercialized material
culture

(b) replacement of rural by urban
interests

(c) complete removal of poverty

(d) absence of violence and corruption
14. Mahatma Gandhi’s dream of ‘an idyllic

and rural paradise’ was not shared by :

(a) those who did not believe in the
industrialization of the country.

(b) those who called him the Father of_/
the Nation.

(c) those who inherited political power
after independence

(d) those who believed that villages
should be self-sufficient in food and
cloth.

15. The basis of ‘an idyllic and rural paradise’

is:

(a) rapid industrialization of villages

(b) self-sufficiency in food and clothes
simplicity of the life style

(c) bringing to the villages the gilttering
prizes of the twentieth century.

(d) supporting those holding powerful

political positions.
CHOOSE THE CORRECT SPELLINGS
FROM THE FOLLOWING :

16. (a) maintenance (b) maintainance
(c) maintainence (d) maintanence
17. (a) commisioner (b) comissioner

() commissioner (d) commissionor

COMPLETE THE FOLLOWING PROVERBS:

18. Blood is thicker than —

(a) winé (b) glass

(c) paper (d) water
19. No news —

(a) makes no newspaper

(b) is good news

(c) nothing new

(d) no danger
20. It is making — longer than I expected.
(b) quite
(d) some

(a) more
(c) rather
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A-4 D.ELEd. (CT) PREVIOUS YEAR QUESTIONS & ANSWERS

21. The term Dyslexia covers a wide range 21. Dyslexia 80 — @ <@ UGS 28 Qge

of : @XER |

(a) reading disabilities (a) Q0RO AAQ!
(b) hearing disabilities (b) §9€910 2R
(c) mental disorders (©) qIede @QGPW

(d) emotional disorders (d) NLYLECISS "-3@6‘?@1
22. 'The scheme of Sarva Shiksha Abhiyan 22. Q¢ @@ 2GAR 6QIPRI 6R6Q Ziaa

(SSA) was launched in the year :

AUAIRAM ? “
(a) 2001 (b) 2005 (a) 2001 (b) 2005
(c) 2007 (d) 2003 (c) 2007 (d) 2003
23. Headquarters of NAAC are located in : 23. NAAC Q Q84 QINIRa 69006a 2930 ?
(a) New Delhi (b) Bangalore (a) QUIR (b) QIFIERIRN
(c) Varanasi (d) Bhubaneswar (€) Q&I (d) Qg
24. Ateacherissaidtobea: 24, QRN 968 FIQ — 6291 @S ?
(a) friend (b) philosopher (a) 98 . (b) Qe
(c) guide (d) all of the above (c) GeEde (d) @R¥e 2ng
25. How can students be encouraged to do 25. €94I6Q QUARAR O TR V6! AR
homework?

dMIIeG, Fo8 aQle erKIRAIGR ?

(a) by giving them more homework (a) 6QAIRG ZYQ CI0 A6Q QG Qe

(b) by urging them to do homework

Qude
(© gy.te“;:i‘ t:;';:he mpoRanciel (b) 6@ QIO 6AYS TS AQEAR FEQ
oing :
(d) by giving homework according to (c) W6A dIO ERYRIA ] QWIRQAUQ 629
their ability (d) 62AIRER VAGIY 624 €I0 691 629
26 Teaching does not help in : 26. SBIQIR 6RCRER AWM FECRD ?
. (a) making social relations (a) AGR WS FuUd eboka
(b) developing international relations (b) TUewlon Qﬁﬁ'ﬁj@ RAER
sing: kndeviedge (c) BF LR &6
(Z), -gmlcagﬁn illiics (d) JRIEARIA ABFERE KGIER
" ~ a = )
27 if a child is nof interested in learning he 27. W9 866 5 dI0 YeQiq U Q8L 6069
l hould b Qe Q'8 209N Qo0 ?
el = K
? ;) ummed - ) (a) QIR FAEA QP
a < . -~
(b) totally ignored (b) qgs acosl QaQl 806
(c) punished. (c) QQGOQL @Ezl <3
(d) given individual attention (d) Qee (gq. 6 R o b
28. Education as per Constitution of India 28. @LQOGI QrIe aqdl
i in : QRO
finds the entry in : e
(a) Concurrent list (a) qaqqgsiu geae omel
(b) State list : - (b) G6aa olnal
{c) Centre list (c) 692 om@l
(d) None of these (d) 6@eds Q6%
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D.ELEd. (CT) PREVIOUS YEAR QUESTIONS & ANSWERS A-5

29,

30.

31.

32.

33.

34.

35.

36.

37.

Which one of the following is not an
Audio-Visual Aid?

(a) Motion picture

(b) Model of the Taj

(c) Television

(d) Educational films

A good teacher will gear his teaching :

(a) to the psychological needs of
children

(b) to the examination needs of children
(c) to the needs of the toppers

(d) to the needs of average children
Which is the world’s smallest country?
(a)- Indonesia (b) Srilanka

(c) Trinidad (d) Vatican City
The ratio of the width of the national
flag of India to its length is :

(a) 2:3 (b) 1:3

(c) 1:4 d) 2:5
Bharatiya Jnanpith award is given for :
(a) contribution to scientific research
(b) research in Ayurvedic medicine

(c) contribution to the cause on Indian

canema
(d) contribution to creative literature
R.K.Laxman of India is a well known :
(a) Cartoonist
(b) Novelist
(c) Painter -
(d) Bird watcher and specialist of bird
life
The Human Rights Day is observed on :

(a) 14™ Oct. (b) 2™ Now.
(c) 10™ Dec. (d) 20" Dec.
‘Titan’ is a name of moon related to
planet : _

(a) Neptune (b) Mars

(c) Pluto (d) Saturn

Who is political Guru of Mahatma
Gandhi?

(a) Dada Bhai Naroji

(b) Rabindra Nath Tagore

(c) A.O.Hume

(d) G.K.Gokhale

28.

30.

o1,

32,

33.

34.

3.

36.

‘37,

RARLe G 6QUE ¢d-0de caloy

QUFRE Q6L 7

(a) 098 8%

(b) SRR YOYE

(€) 9eede

(d) 99 S80Q o0de

966 AN J9Q 0IR JTRY 010 QAQ :

(a) SIS AIRER ZILMGRIQ SIF

(b) SMEINRG CINIR 2USNOIQ QR

(c) S19QIe AR @qael Feudie
QMO SR

(d) RN Qda SIS USRI QIR

QRIR AQ0IQ YROF QR QIF @' ?

(a) R69I6ed2  (b) 9IRS

(c) BRQIQ (d) afee A

RRSIA RIID TFINIR 6AR 6 AAQ QAP

6Q60 ?

(@) 2:3 (b) 1:3

(c) 1:4 d) 2:5

I001A KIS0 QIR 69L2AI0 F2AN ?

(a) 6TWITR GEVVCIER 2P AR

(b) 26X ATUER GELVE QIR

(c) VEEIA TR FEOQ 2R Al

(d) IPRER ALY PNE] 2R IR

2R.69.AFE NN QAN IS ?

(a) QTP SR

(b) Bagude

(c) Sgea

(d) 981 @00 GeaaR .

ARQRIRIR FAT 6969 AIRE 6NN 7

(a) 14 26QQ  (b) 2 PERAR

(c) 10 @eQnQ (d) 20 @6anQ

CIRCR 62R8 69ISY o0 (QQgR)a IR

39@ — ge B e -

(a) 690K (b) Q&R

(c) gss (d) &

ARIY QIR QAURERER ge @97

(a) QO AU FICAIR

(b) @Rk 0Iga

(c) 4.6.94

(d) 69IANRQY ELNSHER
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e p.elea @ ABHEtUs MY duddriblisle; ANsibers
38. In which year man set foot on the moon? 38. 609 od odg 026a 9I0 aIibal?
(a) 1961 (b) 1969
() 1965 (d) 1971 (a) 1961 (b) 1969
39. ‘Santosh Trophy’ is related to : (c) 1965“ I (d) 1971
(a) National Billiards Championship 39. Qw21 ¢F 694 6ep A0 AN ?
(b) National Football Championship C (a) PI010 QRAIC eflaady
(d) National Women's Hockey () 9101 @RY QG efiardq
Championship (d) @18 R o6 oflardq
- ig@‘:e};:h country the ‘Great wall’ is 40, ¢qd coden 6 giolR 20302
(a) Russia (b) Korea (a) Qe (b) 616
(c) China (d) Argentina (c) o1a (d) 2eage
SECTION-II
41 Side of a square increased by 10%, find 41 661N QEEHER CAITN A € 0% Q& ABR,
the increase in area. QI'a 6IRTRER 6RO ANQE aAFI?
(a) 20% (b) 10% (a) 20% (b) 10%
(c) 21% (d) 30% () 21% (d) 30%
42. Find the HCF of 10, 15, 20. 42. 10, 15, 20 @ HCF Qi@ @Q |
(a) 10 (b) 60 (a) 10 (b) 60
(c) 1 (d) 5 (c) 1 (d) 5
43. Find the value of x in equation : 43. 2x+5=0 Qe x @ A LR /A
2x +5=0, (@) 25 (b) 2
(a) 2.5 (b) 2 (c) -2.5 (d) 0
(©) -2.5 @d 0 \ 44.‘ 40% SYid1 eéiesq aAIa @R, 30%
44. 40% students passed in mathematics, aiviea @6m, 10% Qwa Qaa6R
30% passed in the English, 10% passed did QER, Q00 QAAER €TR 62109
in the both subjects, find the students QQiien QM QIRie @
to failed in the both subjects. (a) 40% (b) 20%
(a) 40% (b) 20% (C) 30% (d) 25%
(c) 30% (d) 25% @,szf ..... +100 @ QAT 6Q6O QLR -
oQ
45. Find the sum 1+2+3+...+100.
(a) 5000 (b) 10000 (a) 5000 23 23330
(c) 5050 (d) 6000 V(CLSUSO Q@ 29l 604 6268
46. Country with least population is : 46. GOG‘?];;Q (b) &1R
(a) India (b) China (a) WO
(c) AR (d) QIRIe!
(c) America (d) Canada e
. g 47. REQIR QIR 6QEE?
47. Gift of Nile is : @ ogi@ (b) 60
(a) Israel (b) Egypt & ealf
(c) Iraq (d) Iran (c) @mal@ ()
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49

50.

51.

52.

53.

54.

506.

EQUINOX means :
(a) days are longer than nights
(b) days and n'ﬁ\ts are equal

(c) days are shorter than nights
(d) none of these

Spring tides occur twice a month at :

(a) new moén or full moon

(b) first quarter and new moon

(c) full moon and the last quarter

(d) the first and the last quarters of the
moon

Of the total area of the earth'’s surface

water occupies about — of it :

(a) 50% (b) 60%

(c) 70% (d) 80%

Present population is 10,000. It increases

by 10% during the 1+ year and decreases

10% during 2nd year. Find the

population after 2 years?
(a) 2000 (b) 12200
(c) 12100 (d) 9900

A shopkeeper marks his goods 12%
higher than its original price then allows
12% discount. Find its profit or loss
percentage?

(a) 1.44% loss

(b) 1.44% profit

(c) no profit no loss

(d) 1% loss

Ram’s salary is increased from Rs. 630 to
Rs. 700. Find the percentage increase in
his salary?

(a) 10% (b) 12%

(c) 11.11% (d) 20%

An amount of money double itself in 10
years. What is the rate of interest?

(a) 10% p.a (b) 20% p.a.

(c) 5% p.a. (d) 15% p.a.

An amount of Rs.800 becomés Rs. 920 in
3 years at simple intere§t. If rate of
interest is increased by 3% then what
will be the amount?
(a) 952

(c) 972

(b) 992
(d) 900

48.

49.

QI39Ie (EQUINOX) @ 2l 6208 ?

(a) QS 260al O @@

(b) @R 6 Q& AR

(c) IRgE QGOIQ 6816

(d) 663G Qe

AIER Q02R 2R OFI 29 6TCOEIER :
(a) AIIQY 9° GIAI 696R

(b) 9RO8Q ZEEP 99 AAIQIAY 696Q
(c) QI ¥e° Q8aaa aeé?

(d) 4908 ¥e° QEASQ Z6Re AFNCA

50. QIR UG QINGR ALAIRR 6966 G
oP Q98 ? '
() 50% (b) 60%

v (©) 70% (d) 80%

51. QEFIRQ SRAEH 62 10,000 2 eI
od 10% 9faN e §o1a o 10% 2
AN 2 QF 69 IR FRAW 6960 699
ARI0E Qal
(a) 2000 (b) 12200
(c) -12100 (d) 9900

52. 66 6N AR §FA QUea 9p na
12% YR YA 38108 @ 12% QI gaie
PEQ| PIRIR AN I° FEQ GORE! QR
Qal
(a) 1.44% 90 (b) 1.44% QI
(c) @l QR Qa6 (d) 1% 35

53.

54.

55.

SRR Qe 630 SRIQ 700 SRIQ Q8
denl| 99eIa 6060 giae 2RQE adal
QPR Q|

(a) 10% (b) 12%

(0) 11.11% (d) 20%

6AIG Gd8 ¢ie ol 10 odeq 2ika
U QRS 291 GIRIR QIR 2R 9’ ?
(@) 10% 96Qd  (b) 20% Qg
(©) 5% g9oes (d) 15% g6ed
80061 3 @d6q @ QRINE Qe OBFe
5218 920 oFIcn adee 991 9 ool

RIAR 3% AAQR A6E, 6069 eFia AGNIQ
6R60 699 ?

(a) 952
(c) 972

(b) 992
(d) 900



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

Join Us-

56.

59.

61.

62.

63.

65.

In what time will rupees 1000 becomes
Rs. 1331 at 10% rate p.a. Compound
interest.
(a) 3 years (b) 4 years

(d) 10 years

The ratio of two numbers is 3:4 and their
L.CM is 180, the 1* number is?

(a) 45 (b) 30

(c) 60 (d) 15

The ratio of radius of two circles is 3: 4
then what is ratio of their areas?

(a) 16:9 (b) 9:16

(c) 3:4 (d) 1:2

In an election one candidate got 40

percent votes and defeated by 1500 votes
then votes of winner are?

(a) 3000 (b) 5000

(c) 4500 (d) 6000

What is the sum of three angles of a
triangle?

(a) 120° (b) 150°

(c) 100° (d) 180°

Which gland of human body is called
‘Adam’s Apple’?

(a) Pituitary (b) Adrenal

(c) Thyroid (d) Endocrine
Digestion of food starts in the :

(a) Mouth (b) Liver

(c) 2years

(c) Stomach (d) Intestines
EEG is related to :

(a) Brain (b) Heart
(c) Eyes (d) Kidneys
Catalyst :

(a) Stops the reaction

(b) Itself take part in a chemical reaction
(c) Affects the rate of reaction

(d) None of these

BCG is used to prevent :

(a) Hydrophobia (b) Cancer

(c) Neuralgia (d) Tuberculosis

56.

57,

58.

59.

60.

61.

62.

63.

64.

65.

QIR 3% 9QQ8 QM 2I6Q 6X6H ARG
CRIER 1000 O 1331 SFIER TREG 629 7
(a) 3 9F (b) 4 9F

(c) 294 (d) 10 94

QRG el CRIER AQAIC 6208 3:4 e
6Q7Iee L.C.M 62@8 180, 6069 Qo
QIS 6966 ?

(a) 45 (b) 30

(c) 60 (d) 15

Qef Qe AT 2QAIe 6208 3:4
6069 6QFIRNE 69QQR AFUIC @'6?

(a) 16:9 (b) 9:16

(c) 3:4 (d) 1 :?

cIGq BSIenea @66 Qe 40% EQIE
aiaal Ne° 1500 6616 6RITER TAFE
6ORI, 6069 FEROIR ERITASH 6Q60 ?

(a) 3000 (b) 5000
(c) 4500 (d) 6000
60IeY R 68 6RIEIR ANT 6966 7
(a) 120° (b) 150°
(c) 100° (d) 180°°

AQ8Y 6920 6RQ q¥g “lera wea”
6QIR QRIAN ?

(a) GQGIR (b) 26QAIN

(c) 2RIe (d) 968IER
e 297 934 6QQ0IEa 2IeR 297
(a) ai§ (b) 9@ '
(c) aIeg (d) 2eseM
EEG @I9l 996 aae ?

(a) ¢18Q (b) 2008

(c) g d) 9aQ

QO6Ye@ (catalyst) :

(a) QAVFe 9EFaIQ e F6R

(b) A69 QAARY YEFAEQ UaGLe
@6Q

(c) 9ORAIR AIRIY GRNIGE F6R

(d) 6@eAT Q6w

BCG @ Q4eeia @'4 goeia aisl aauan?

(a) SRIOT (b) @QE

(c) YgR @ ol
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67.

68.

69.

70.

g 8

72

73

74.

.(¢) Manipur

Who is regarded as the Archiici/Tather
of the Indian Constitution?

(a) B.R.Ambedkar

(b) Jawaharlal Nehru

(c) Rajendra Prasad

(d) C.Rajagopalachari

The Constitution of India is -

(a) Unitary (b) Confederal

(c) Federal with a strong centralizing
tendency

(d) None of these

Which of the following has a
constitution of its own?

(a) Tamil Nadu (b) Sikkim

(d) Jammu and Kashmir
:he state of emergency can be proclaimed
y:

(a) The President

(b) The Prime Minister

(c) The Speaker of Lok Sabha

(d) Ministry of Home Affairs

The President can promulgate ordinances

only when the :

(a) Prime Minister asks him to do so

(b) Council of Ministers wants him to
do so

(c) Parliament is not in session

(d) Parliament empowers him for it
during a particular session

The ancient name of the city of Patna is:

(a) Kausambi (b) Patliputra

(c) Kanauj (d) Kapilvastu
The Battle of Plassey took place in the
year :

(a) 1757 (b) 1772

(c) 1864 (d) 1870

The Nalanda University was in the
present Indian state of :

(a) Odisha (b) Bihar

(c) West Bengal (d) Uttar Pradesh
Who was the first British Governor-
General of India?

(a) Lord Minto

(b) Lord Cornwallis

(c) William Bentinck

(d) Warren Hastings
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66.

67.

68.

69.

70.

71

7i

73.

74.

QIRIQ NG AAUEQ YA RGN / SR
QR QRS TN ?

(a) 9.21R.262900

(b) FRLANIR ERELY

(c) QUELL gAQ

(d) Q.aeeaaReIR

QARSI AR 6208 :

(a) 9@Q (b) QURAQIRX
(c) FRIYID 9° 9L 99a

(d) 69163G Q6L

AONYe 6900 FR] AL Q88 ?

(a) QIFNRIQ (b) A@Q |
(c) P&ige (d) erpee

P~

QAR a8gs ceen QRIQA RIR

QAAIRAER ? |

(a) QUEAQ (b) QUIRAR

(c) 6AIRARNIRQ AP

(d) QMR AREIRE

QIIAE ZRMIEPE 6TITEI 609F 6ACEIER

PAUIRAER 6ICOCIER :

(a) QUNNR! QIF 69UR FARY FL6R

(b) PROGES QI 6Q0R QEQIQ @6

(c) °AVER 6LEOEIER  2ANEQER
QRN

(d) FRe ZUCRIR FINER LAY 2°AQ
QI FARI 99OIR QA9

dIeR 20 YR QN Q'€ 7

(a) ealan (b) QACRQL

(c) R6Re (d) *ERIg
ORIA! A €Q dREa °AFE oIl ?
(a) 1757 (b) 1772

(c) 1864 (d) 1870

QIR SRS ARG ANER 698
QRER 2RI ?

(a) 6@4l (b) QLI

(c) Qficeg (d) 20Qges

0I00Q gan §de enda cRerain &9
6% ?

(a) @@ Feql
(c) GRON code

(b) A@ QdyRa
(d) Geee 628aQ
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Who founded Indian National Congress?
(a) Surendra Nath Banerjee
(b) Dadabhai Naorojee
(c) CR.Das
(d) A.O.Hume
Acid rain is caused by :
(a) Excess production of coal gas
(b) Excess release of CO, due to
increasing combustion and
respiration
(c) Excess release of SO, and NO, from
burning fossil fuels
(d) Excess production of gaseous
hydrocarbons
Which is not the unit of distance?
(a) Kilometer (b) Centimeter
(c) Kilometer/hour (d) Light year
Which of the non-metal is found in

liquid state?
(a) Oxygen (b) Nitrogen
(c) Helium (d) Bromine

The unit of intensity of noise is :
(a) Decibel (b) Decimal
(c) Debey (d) Dioptre
Deficiency of Vitamin-A causes :
(a) Rickets
(b) Beri-Beri
(c) Night-blindness
(d) Polic
The deficiency of which constituent in
our food causes goiter?
(a) lodine (b) Vitamin C
(c) Vitamin A (d) Sodium
Which of the following is not a metal?

(a) Ferrous (b) Copper

(c) Steal (d) Mercury
Which is the universal donor blood
group?

(a) A (b) B

(c) O(-ve) (d) AB

Which of the following disease caused
by virus?

(a) Cancer (b) Cholera

(c) TB (d) Smallpox
Which is the unit of weight?

(a) Kilogram (b) Ampere

(¢) Gram (d) Newton
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QNG PIP1R @69 9 gO]I @deen ?

(a) L60RRIE QRIS

(b) YRINQ FIEAUR

(c) Q.2e.9Q

3@ odl QIRe 297

(a) 6QIRRAI MR ARGl A ETEM

(b) Q20.9Q° AGA TREQ CO, @ AP
Qda e26m

(c) QRea 29RIQI SO, e NO,a
ZOYIS Pdf 6e6m

(d) NID ARCRIRITRR SRR GG QI

6R00 9ROIR IRe 6L ?

(d) 4.6.94%

(a) @EAFCR (b) 6Q§FeQ
() @.f./98 d) 2eRIeed
FORYC 699 TMRIG 0aR AR FeR ?
(a) 2RIN (b) ALVQRIR
(c) Qo (d) €A

d0 9190 99 62aR ?

(a) 6eden (b) 60QaIR

(c) Geia d) QBge
f0IAR ¢ 2QIQ 626@ @'Q 297

(a) G6@6Q (b) 68696
(c) 2RI (d) 6aIRB

2R SIMER @6 AN 6LEN IRGIY 6T
297

(a) UEAER, (b) SeiFie C
(c) QeFie A (d) eQdan
QRS F1IG 690T U Q6L 7

(a) 6TQQ (b) @Al

(c) me (d) Qe
6990 6208 AIRAIR QVAGIT ga?
(a) A (b) B

() O(-ve) (d) AB
PONYE 6QQ QIS QEIGRAS ?

(a) 6999 (b) QERQU

(c) G.9. d) «igedl
6000 6208 GRRA PR ?

(a) @emIgel (b) DI

(c) @I (d) Feee
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632 QUK NP YO LW 6960 ?

(a) 49 (b) 31

(c) 50 (d) 53

GRS YO MrIQ 6QET 684 B qed?
(a) & (b) &1

() @ (d) @

6R960a UEe Y& Aden ‘@’ QeNd
29?

(a) @+ 8 (b) €+ 8
(c) +8 d B+
6QA0 1@ gaQeRF Q6e?
(a) 9 (b) 9
(c) 6 d)

6100 a1 Fa1edl AR 93 | @ QINYER
PG| 6208 99 :

(a) QIR

(b) S6a88

(c) 2N

(d) QeRIee a8y &

6@l Q@ Q@ QIR QORER ARl MRYS
24 oIRIg @'¢ Q238 ?

(a) QIRIA (b) Seaay

(c) 96884 (d) Mg

20Q, 9F, 08 AGIG 609 I0a geaR ?
(a) Q121 (b) 8@

(c) QI (d) eaIgQ!

geis dea SuRle 90 @6 ?

(a) 99

(b) G648 :

(c) Qg

(d) 9618 -

‘208 629Q'Q QEER @'¢ QKN ?
(a) GINEQ 21O 62

(b) @EIQIGER PBITRID latarale]
(© 8@ « ARl

() 810 986n AR 6eaQl

95.

7.

98.

. 29,

100.

‘gq QI Q& g8 gRel’ Qla B8 @’E ?
(a) 9QQ gRK QG

(b) 6SIAG QAQ!
() 2eR WP @ gl

(d) MU IeR PRS

‘Q10R° 08 QYR 6006 O ?

(@) @ + Qe '

(b) 69 + Q@

(c) @8 + @@

(d) @1+ Qe

da0qie 23Rl 6 2Rk Gde 92 caIRl
gienl| 92! 689 Q1Y ? .
(a) 9@

(b) e

(c) edldi@

@ fg

694 dR6Q ‘26’ @Qed RIERIR ?

(a) 2SS

(b) 2048

(c) 2SR

(d) IR

‘] 26 AeR6a Y2l GRS I” 92 QIIER
‘AR’ 60 6o B8 QT ?

(a) Qe

(b) Qe

(c) Qo

(d) 8%

‘6Q 691l AR IO 6UR CURRI’ 9@
4R 608 gRIQ QIRY ?

(a) 6Q163G Qe

(b) ZeFQ

(o) §ede

(d) eede
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answer keys are indicated as “*”

Note : Grace



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

